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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| H$m CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Type Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎma dmbo àíZ) (A{Zdm¶©)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Explain the difference between Greenwich Mean Time 

(GMT) and Indian Standard Time (IST).

		  J«rZ{dM ‘mZH$ g‘¶ Ed§ ̂ maVr¶ ‘mZH$ g‘¶ ‘| A§Va ñnîQ> H$s{O¶o&

	 (ii)	 How and when the Deccan Trap evolved ?

		  X³H$Z Q´>on H$m {Z‘m©U H$~ d H¡$go hþAm ?

	 (iii)	 Write the other names of Rajasthan Canal ?

		  amOñWmZ Zha Ho$ AÝ¶ Zm‘ ~VmB¶o ?

	 (iv)	 Which climate conditions are favorable for tropical moist 

deciduous forest ?

		  {H$g àH$ma H$s Obdm¶w Xem¶| AmÐ© nVP‹S> dZm| Ho$ {bE AZwHy$b h¢?

	 (v)	 Which river valley possesses the largest reservoir of coal 

in India ?

		  ^maV ‘| H$mo¶bo H$m gdm©{YH$ ^§S>ma {H$g ZXr KmQ>r ‘| nm¶m OmVm 
h¡?

	 (vi)	 Define dry farming.

		  ewîH$ H¥${f H$mo n[a^m{fV H$s{O¶o&

	 (vii)	Mention the extension of National Highway - 7.

		  amîQ´>r¶ amO‘mJ©-7 H$m {dñVma ~VmB¶o&

	 (viii)	What is environmental impact assessment ?

		  n¶m©daUr¶ A{Yà^md ‘yë¶m§H$Z ³¶m h¡ ?

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.
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(IÊS> - ~)
(bKw CÎma dmbo àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 Analyze the statement - There is unity in diversity in India.

	 H$WZ H$s {ddoMZm H$s{O¶o - ^maV ‘| {d{dYVm ‘| EH$Vm h¡&

3)	 Explain the distribution pattern of rainfall in India.

	 ^maV ‘| dfm© H$m {dVaU àmê$n ~VmB¶o&

4)	 Describe the characteristics and distribution of black soil in 

India.

	 ^maV ‘| H$mbr {‘Å>r Ho$ bjUm| Ed§ {dVaU H$m dU©Z H$s{O¶o&

5)	 Make a note on mineral belts of India.

	 ^maV H$s I{ZO no{Q>¶m| na {Q>ßnUr H$s{O¶o&

6)	 Make a note on New Population Policy-2000.

	 ZB© OZg±»¶m Zr{V-2000 na {Q>ßnUr H${O¶o&

7)	 Make a note on Mumbai-Pune industrial region.

	 ‘w§~B©-nwUo Am¡Úmo{JH$ àXoe na {Q>ßnUr H$s{O¶o&

8)	 Explain the meaning of regional planning.

	 àmXo{eH$ {Z¶moOZ H$m AW© ñnîQ> H$s{O¶o&

9)	 Describe the development of information technology in India.

	 ^maV ‘| gyMZm VH$ZrH$s {dH$mg na {Q>ßnUr H$s{OE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎma dmbo àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& AmnH$mo AnZo CÎma H$mo A{YH$V‘ 
500 eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Describe in detail the environmental degradation in India.

	 ^maV ‘| n¶m©daU AdZ¶Z H$m {dñV¥V dU©Z H$s{O¶o&

11)	 Explain the major indicators showing regional disparity.

	 àmXo{eH$ {df‘Vm H$mo Xem©Zo dmbo à‘wI gyMH$m| H$m dU©Z H$s{O¶o&

12)	 Analyze the development of urbanization in India while 

describing the problems caused by urbanization.

	 ^maV ‘| ZJarH$aU Ho$ {dH$mg H$m dU©Z H$aVo hþE Bggo CËnÝZ g‘ñ¶mAm| 
H$m {ddoMZ H$s{O¶o&

13)	 Divide India into major river basins and describe them.

	 ^maV H$mo à‘wI ZXr ~o{gZm| ‘| {d^m{OV H$s{O¶o VWm CZH$m dU©Z 
H$s{O¶o&


